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2 b~‡i RvbœvZ L 1-30=30 86 48 48 182 91 gygZvR 1g

1 Kzjmyg K 1-30=30 78 48 48 174 87 gygZvR 2q

10 mygvBqv L 1-30=30 70 48 48 166 83 gygZvR 3q

14 mygvBqv L 1-30=30 78 40 48 166 83 gygZvR 3q

11 RvbœvwZ M 8 cvivi 10 c„ 9-30=22.10 66 45 46 157 78.5 Rv:wR: 4

5 gvwR©qv L 1-30=30 58 48 48 154 77 Rv:wR: 5

7 bvwdqv K 1-23=23 66 48 40 154 77 Rv:wR: 5

4 gywbœ K 6-30=25 65 40 48 153 76.5 Rv:wR: 6

12 Avwgbv L 1-30=30 57 47 46 150 75 Rv:wR: 7

8 RvbœvwZ L 1-30=30 50 46 48 144 72 Rv:wR: 8

3 Avqkv (QvU) M 1-30=30 50 48 40 138 69 Rv:wR: 9

6 Avwgbv M 4-30=27 42 48 45 135 67.5 Rv:wR: 10

9 mvqgv M 4-30=27 40 42 46 128 64 Rvwq¨` 11

13 mvw`qv L 5-30=26 Aby:

cix¶v_©x 14Rb| gy:Avjv: 00Rb,gygZvR 04Rb,RvtwRt 08Rb,Rvwq¨` 01Rb, gvKeyj 00Rb, ivwme 00Rb,Aby:01Rb||

gy:Avjv= 90-100 (cÖ‡Z¨K welq) 

gygZvR=80-89              

Rvwq¨` wRÏvb=65-79     

Rvwq¨`=50-64          

gvKeyj=40-49                           

ivwme= 0-39
wndR: 30cviv MÖæc
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